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All businesses operate in a market. However, the nature of the market in which businesses|
‘compete can vary considerably. Monopolistic compefition is a form of imperfect compefition
that can be found in many markets. For example, across Wales there are an increasing number
of businesses being set up to provide care homes for the elderly and nurseries for young children
whose parents wish to retum to work. Both examples fitinto the market siructure of monopolistc

‘compeition.
(a) Whatis meant by the term market? 2]

(b) Explain, with reference to the examples given in the text, what is meant by monopolisic|
‘competiion. ]
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(c)  How might consumers be affected by the proposed removal of Royal Mail's monopoly?
“
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A first-class stamp rose in price from 46p to 60p in April 2012. The 30% price rise i first-class
‘stamps marked the biggest annual increase in percentage terms since 1975 Many consumer
groups, especially those representing pensioners, have expressed their alam at such large
price increases.

‘Source: BBC News online March 2012

Royal Mail is an organisation in the public sector. However, the Postal Services Act 2011
enables the government to privatise Royal Mail with the first sale of shares in October 2013. The
monopoly, held by Royal Mail n relation to the delivery of efters in the UK, may soon be a thing
of the past. Eventually Royal Mail may become a private sector organisation
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The market for smartphones is an oligopoly. At the beginning of 2012, 23% of smartphones
sold worldwide were Apple iPhones but this figure fell to 11.9% at the start of 2014. Samsung,
one of ts rivals, was the leading mobile phone manufacturer in 2014, holding a market share of
just over 25%. One reason for Samsung’s success is that it conducts a great deal of primary
and secondary market research.

Global Smartphone Market Share
(Q22014)

igomi | Lenovo
510% | 5.40%

(a)  Explain what is meant by the term oligopoly. 21
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(b) Below is a pie chart showing the market shares of grocery retailers in the UK.
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Serendipity Ltd

Joy Daniels heads Serendipity Ltd, an established medium-sized retail business that sells
high-end outdoor clothing and equipment. The business seeks to emphasise quality as well as
respect for the environment. The company has 20 outlets in cities across the UK and also rades
online.

Joy wishes to expand her business and believes she needs to take greater advantage of market
segmentation. She intends to introduce new specialist ranges for women and chilren as well
asooking at other sports such as cycling, saiing and skiing_She is also considering turning the
company into a pubiic limited company by floating it on the Stock Exchange.

(@ () Explain the meaning of the term market segmentation. 2]

(i) Evaluate the importance of market segmentation to Serendipity Lid and its
customers. ]




